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1.  A mass of 3 kg, at rest, is given an applied force of 14.72  Newton’s to the right on a rough surface, us = .40.  Will the mass move?

2.  A wooden mass of 120 g is sliding on a wooden incline of angle 45 degrees.  Calculate the acceleration of the mass.

3.  A 3 kg wood block is at rest on a wood surface.  A force of 15 N is applied as shown.  Calculate the initial acceleration of the block.  (include friction)






F



4.  A steel mass is in motion on a steel surface.  The .05 kg mass then experiences a force of 2 N acting as shown.  Calculate the acceleration of the mass.  (Include friction)





2 N



5.  A lab group wishes to measure the uk for a wood block on a wood surface.  The lab group uses an angle of 40 degrees, and measures the acceleration of the block to be 2.4 m/s2.  Calculate the uk value for this experiment.

6.  A wood mass slides to rest on a wooden surface.  Calculate the deceleration of the mass.  Then determine the distance required to stop if the mass has an initial velocity of 5 m/s.
7.  A mass slides to rest on a surface.  The decceleration of the mass is measured to be 

-3.5 m/s2.  Calculate the uk for the surfaces.  
8.  A steel mass sits on a steel incline.  Calculate the angle at which the incline has to be rotated so that the mass just begins to slide.

9 .  Show the equations to calculate the acceleration of each mass in the diagram below...
